Unit3  This is the picture which | took in Kyoto.

1. Noun-modifying clause

The noun-modifying sentence (clause) is a clause that modifies a noun. The modifying word (phrase) is

always followed by the noun, and the verb is in the plain form.
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Example2) BA H . KF| 9?\ '\ \ (The people who are not coming o university tomorrow)
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Example4) #F 4%07‘: (The restaurant which | went to yesterday)

Example5) ji’f\ \7°—/W7‘°§;% (The house which has a large pool)
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- NI R E TR 1B BT, (This is the picture which | took in Kyoto.)
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- ﬂf]\ﬂaﬁof T—Xrg E& ~NZFL7, (I ate the cake which my mother made.)

The subject in the noun-modifying clause requires “#"
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Example8) ZALidAaHY 4‘Eof T — fk’(?“ (This is the cake which | made.)

Example9) EBEP)‘Aﬂf?\ﬁ\ \VELIR—he a}hl»iU“ (I read the paper which Tanaka-san wrote.)

2. Expression for “to wear”

In Japanese, verbs differ when one wears a hat and when one wears jeans. For example, for the action of

putting something on the upper body, the verb “#& 2" is used, for the action of putting something on the

lower body, the verb “14<” is used.

DE A Example) x>/, Tox/, £—F— A—>, a—hk TrE—Z, E%\ AAY.

L -R2)
Ux’rybhy &4 (shirt, T-shirt, sweater, suit, coat, one-piece dress, top, blouse,

jacket, kimono)
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2) 3¢ Example) XHR> . A —k 230, #h, U890, ﬁt% (frousers, skirt, pants,

shoes, sandals, socks)
3) N% Example) %%\ ~J)LA vk (hat, helmet)
4) N5 Example) 434, 277 A (glasses, sunglosses)
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5 4% Example) E%UJF Fo VA, ET A, %751, %’a%ﬁ (watch, necklace, pierced earrings,

necktie, ring)
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Example 1 expresses that one’s action is in progress, not finished yet while Example 2 expresses one’s action
is completed. That is, Example 1 indicates that Arif is putting on a shirt, and Example 2 indicates Arif has put
on a shirt and is now wearing it.

wE =
Examplel) &, 7YV 73 vz & U5,  (Arif is putting on a shirt now.)
Example2) 717143 v/ % % %, (Arif has a shirt on.)
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